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EayL L

oo R P BfE(m) & (m) FHERm) | i Fm2) G
HNO. 0 — 8.70 — 0.0 — —
HNO. 0 8.70 0.3 0.15 1.3
HNO. 1 20.00 0.3 0.30 6.0
HNO. 2 20.00 0.3 0.30 6.0
HNO. 3 20.00 0.3 0.30 6.0
HNO. 4 20.00 0.3 0.30 6.0
HNO. 5 20.00 0.3 0.30 6.0
HNO. 6 20.00 0.3 0.30 6.0
HNO. 7 20.00 0.3 0.30 6.0
HNO. 8 20.00 0.3 0.30 6.0
HNO. 9 20.00 0.3 0.30 6.0
HNO. 10 20.00 0.3 0.30 6.0
HNO. 11 20.00 0.3 0.30 6.0
HNO. 12 20.00 0.3 0.30 6.0
HNO. 13 20.00 0.3 0.30 6.0
HNO. 14 20.00 0.3 0.30 6.0
HNO. 15 20.00 0.3 0.30 6.0
HNO. 15  + 9.6 9.60 0.3 0.30 2.9 HNO.15
Uit B 4.3 | BAHUKERLTE
GEi 98.5
BARYL B L
oo R P BfE(m) HE F(m) FHERm) | i Fm2) G
HNO. 0 — 8.70 — 0.0 — —
HNO. 0 8.70 3.8 1.90 16.5
HNO. 1 20.00 3.8 3.80 76.0
HNO. 2 20.00 3.8 3.80 76.0
HNO. 3 20.00 3.8 3.80 76.0
HNO. 4 20.00 3.8 3.80 76.0
HNO. 5 20.00 3.8 3.80 76.0
HNO. 6 20.00 3.8 3.80 76.0
HNO. 7 20.00 3.8 3.80 76.0
HNO. 8 20.00 3.8 3.80 76.0
HNO. 9 20.00 3.8 3.80 76.0
HNO. 10 20.00 3.8 3.80 76.0
HNO. 11 20.00 3.8 3.80 76.0
HNO. 12 20.00 3.8 3.80 76.0
HNO. 13 20.00 3.8 3.80 76.0
HNO. 14 20.00 3.8 3.80 76.0
HNO. 15 20.00 3.8 3.80 76.0
HNO. 15+ 9.6 9.60 3.8 3.80 36.5 HNO.15
iy 53.9 | BEHUKRIRILTTG
GEi 1,246.9
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Y P BfE(m) & (m) FHERm) | i Fm2) G
HNO. 0 —  17.60 — 0.0 — —
HNO. 0 — 8.70 8.90 1.5 0.75 6.7 HNO.0
HNO. 0 8.70 1.5 1.50 13.1
HNO. 1 20.00 1.5 1.50 30.0
HNO. 2 20.00 1.5 1.50 30.0
HNO. 3 20.00 1.5 1.50 30.0
HNO. 4 20.00 1.5 1.50 30.0
HNO. 5 20.00 1.5 1.50 30.0
HNO. 6 20.00 1.5 1.50 30.0
HNO. 7 20.00 1.5 1.50 30.0
HNO. 8 20.00 1.5 1.50 30.0
HNO. 9 20.00 1.5 1.50 30.0
HNO. 10 20.00 1.5 1.50 30.0
HNO. 11 20.00 1.5 1.50 30.0
HNO. 12 20.00 1.5 1.50 30.0
HNO. 13 20.00 1.5 1.50 30.0
HNO. 14 20.00 1.5 1.50 30.0
HNO. 15 20.00 1.5 1.50 30.0
HNO. 15  + 9.6 9.60 1.5 1.50 14.4 HNO.15
Uit B 21.3 | EAUREALTEE
GEi 505.5
BrRBL K
oo R P BfE(m) HE F(m) FHERm) | i Fm2) G
HNO. 0 —  17.60 — 0.0 — —
HNO. 0 — 8.70 8.90 8.1 4.05 36.0 HNO.0
HNO. 0 8.70 8.1 8.10 70.5
HNO. 1 20.00 5.2 6.65 133.0
HNO. 2 20.00 4.0 4.60 92.0
HNO. 3 20.00 5.1 4.55 91.0
HNO. 4 20.00 3.8 4.45 89.0
HNO. 5 20.00 2.7 3.25 65.0
HNO. 6 20.00 2.9 2.80 56.0
HNO. 7 20.00 3.6 3.25 65.0
HNO. 8 20.00 3.4 3.50 70.0
HNO. 9 20.00 3.1 3.25 65.0
HNO. 10 20.00 3.5 3.30 66.0
HNO. 11 20.00 4.1 3.80 76.0
HNO. 12 20.00 3.4 3.75 75.0
HNO. 13 20.00 4.2 3.80 76.0
HNO. 14 20.00 5.3 4.75 95.0
HNO. 15 20.00 8.1 6.70 134.0
HNO. 15+ 9.6 9.60 8.1 8.10 77.8 HNO.15
Uit £ 115.0 | #a8UKEa T EE
GEi 1,547.3
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4 P X H = i
fi k- , 649
WA 2.0t/{H e 2. 853
At 4,502
fi k- 795
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WA (2.0t/fH) fE 1

TR BEOBEm) | W @ Rm®) CPRIBTEREmY K ) i &
HNO. 0 — 8.70 — 0.0 — —
HNO. 0 8.70 5.0 2.50 21.8
HNO. 1 20.00 5.0 5.00 100.0
HNO. 2 20.00 5.0 5.00 100.0
HNO. 3 20.00 5.0 5.00 100.0
HNO. 4 20.00 5.0 5.00 100.0
HNO. 5 20.00 5.0 5.00 100.0
HNO. 6 20.00 5.0 5.00 100.0
HNO. 7 20.00 5.0 5.00 100.0
HNO. 8 20.00 5.0 5.00 100.0
HNO. 9 20.00 5.0 5.00 100.0
HNO. 10 20.00 5.0 5.00 100.0
HNO. 11 20.00 5.0 5.00 100.0
HNO. 12 20.00 5.0 5.00 100.0
HNO. 13 20.00 5.0 5.00 100.0
HNO. 14 20.00 5.0 5.00 100.0
HNO. 15 20.00 5.0 5.00 100.0
HNO. 15 + 11.4 11.40 5.0 5.00 57.0 HNO.15
Pl 70.3 B - P BRI 1
GEi 1,649.1
WA (2.0t/18) K
TR BEOBEm) | W m Rm®) CPRIETEREmY K ) i &
HNO. 0 — 17.6 — 0.0 — —
HNO. 0 — 8.70 8.90 9.5 4.75 42.3 HNO.0
HNO. 0 8.70 9.5 9.50 82.7
HNO. 1 20.00 9.3 9.40 188.0
HNO. 2 20.00 8.3 8.80 176.0
HNO. 3 20.00 9.4 8.85 177.0
HNO. 4 20.00 8.1 8.75 175.0
HNO. 5 20.00 6.9 7.50 150.0
HNO. 6 20.00 7.3 7.10 142.0
HNO. 7 20.00 7.9 7.60 152.0
HNO. 8 20.00 7.6 7.75 155.0
HNO. 9 20.00 7.3 7.45 149.0
HNO. 10 20.00 7.7 7.50 150.0
HNO. 11 20.00 8.4 8.05 161.0
HNO. 12 20.00 7.6 8.00 160.0
HNO. 13 20.00 8.3 7.95 159.0
HNO. 14 20.00 9.6 8.95 179.0
HNO. 15 20.00 9.1 9.35 187.0
HNO. 15 + 11.4 11.40 9.1 9.10 103.7 HNO.15
Pl 164.5 B - R BRI 1
GEi 2,853.2
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U B EfE(m) St RKe(m) FEPER(m) | E FEm2) (G
HNO. 0 — 8.70 — 0.0 — —
HNO. 0 8.70 2.5 1.25 10.9
HNO. 1 20.00 2.5 2.50 50.0
HNO. 2 20.00 2.5 2.50 50.0
HNO. 3 20.00 2.5 2.50 50.0
HNO. 4 20.00 2.5 2.50 50.0
HNO. 5 20.00 2.5 2.50 50.0
HNO. 6 20.00 2.5 2.50 50.0
HNO. 7 20.00 2.5 2.50 50.0
HNO. 8 20.00 2.5 2.50 50.0
HNO. 9 20.00 2.5 2.50 50.0
HNO. 10 20.00 2.5 2.50 50.0
HNO. 11 20.00 2.5 2.50 50.0
HNO. 12 20.00 2.5 2.50 50.0
HNO. 13 20.00 2.5 2.50 50.0
HNO. 14 20.00 2.5 2.50 50.0
HNO. 15 20.00 2.5 2.50 50.0
HNO. 15 + 11.4 11.40 2.5 2.50 28.5 HNO.15
Pl 5.1 B - P BRI 1
At 794.5
WAL [ L
U B BfE(m) St RKe(m) FEPER(m) | E FEm2) (G
HNO. 0 — 8.70 — 0.0 — —
HNO. 0 8.70 3.8 1.90 16.5
HNO. 1 20.00 3.8 3.80 76.0
HNO. 2 20.00 3.8 3.80 76.0
HNO. 3 20.00 3.8 3.80 76.0
HNO. 4 20.00 3.8 3.80 76.0
HNO. 5 20.00 3.8 3.80 76.0
HNO. 6 20.00 3.8 3.80 76.0
HNO. 7 20.00 3.8 3.80 76.0
HNO. 8 20.00 3.8 3.80 76.0
HNO. 9 20.00 3.8 3.80 76.0
HNO. 10 20.00 3.8 3.80 76.0
HNO. 11 20.00 3.8 3.80 76.0
HNO. 12 20.00 3.8 3.80 76.0
HNO. 13 20.00 3.8 3.80 76.0
HNO. 14 20.00 3.8 3.80 76.0
HNO. 15 20.00 3.8 3.80 76.0
HNO. 15 + 11.4 11.40 3.8 3.80 43.3 HNO.15
VSR 65.1 B - P USRI 1
At 1,264.9
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U B BfE(m) St RKe(m) FEPER(m) | E FEm2) (G
HNO. 0 — 17.60 — 0.0 — —
HNO. 0 — 8.70 8.90 1.5 0.75 6.7 HNO.0
HNO. 0 8.70 1.5 1.50 13.1
HNO. 1 20.00 1.5 1.50 30.0
HNO. 2 20.00 1.5 1.50 30.0
HNO. 3 20.00 1.5 1.50 30.0
HNO. 4 20.00 1.5 1.50 30.0
HNO. 5 20.00 1.5 1.50 30.0
HNO. 6 20.00 1.5 1.50 30.0
HNO. 7 20.00 1.5 1.50 30.0
HNO. 8 20.00 1.5 1.50 30.0
HNO. 9 20.00 1.5 1.50 30.0
HNO. 10 20.00 1.5 1.50 30.0
HNO. 11 20.00 1.5 1.50 30.0
HNO. 12 20.00 1.5 1.50 30.0
HNO. 13 20.00 1.5 1.50 30.0
HNO. 14 20.00 1.5 1.50 30.0
HNO. 15 20.00 1.5 1.50 30.0
HNO. 15 + 11.4 11.40 1.5 1.50 17.1 HNO.15
Pl 25.7 B - P BRI 1
At 512.6
B K
U B BfE(m) St RKe(m) FEPER(m) | E FEm2) (G
HNO. 0 — 17.60 — 0.0 — —
HNO. 0 — 8.70 8.90 9.3 4.65 41.4 HNO.0
HNO. 0 8.70 9.3 9.30 80.9
HNO. 1 20.00 8.4 8.85 177.0
HNO. 2 20.00 7.3 7.85 157.0
HNO. 3 20.00 8.6 7.95 159.0
HNO. 4 20.00 6.9 7.75 155.0
HNO. 5 20.00 5.7 6.30 126.0
HNO. 6 20.00 6.0 5.85 117.0
HNO. 7 20.00 6.8 6.40 128.0
HNO. 8 20.00 6.4 6.60 132.0
HNO. 9 20.00 6.2 6.30 126.0
HNO. 10 20.00 6.6 6.40 128.0
HNO. 11 20.00 7.2 6.90 138.0
HNO. 12 20.00 6.4 6.80 136.0
HNO. 13 20.00 7.1 6.75 135.0
HNO. 14 20.00 8.7 7.90 158.0
HNO. 15 20.00 8.2 8.45 169.0
HNO. 15 + 11.4 11.40 8.2 8.20 93.5 HNO.15
Pl 138.8 B - R BRI 1
At 2,495.6
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1:1.5 - 1.201

CADEH A=195.5m2

HNO.ISDEREIEICKYEH

£t 0.3m
fEL#E&F 3.8m
Kep#EiF 1.5m
K 8.1m

&5tH13.7m

WEA (BEL) v=195.5x1.201%(0.3+3.8)/13.7 X 1

=70.27m2

#WHER (KE) Vv=195.5x1.201 %X (1.5+8.1)/13.7 X 1

=164.52m2

L (ELE) A=195.5%1.201%0.3/13.7=5.14m?2
L (BEE#IEF) A=195.5X%1.201 X 3.8/13.7=65.12m2
F¥L OKBEIEF) A=195.5x%1.201 X 1.5/13.7=25.70m?2
LK) A=195.5%1.201 % 8.1/13.7=138.82m?2
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